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N.B. (1) . . Attempt any four questions out of six.
(2) i " Assume any suitable data if rcqulred
(3) Figures to the right indicate full marks.

1. (a) Find system function for thie given pole zero plot D.C. gain of the system is 10 5
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(b) Draw dual of the following— 5
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(c) For the given network s/w is closed and a steady state is reached. Att=0s/wis 5

opened. Find i,(0"), V, (0" & Sk (%)
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@ < mck the fohomnn function for Faunwitz.
Fs)=3s*+7:"+1
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2 QP Code : 14681 "
2. (a) Find condition of reciprocity for Y-parameters. 10
(b) Find nodal voltages for a given circuit. . - 10
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3. {a) For the ladder n/w shown. Shﬂw t.hat, 1‘} (S) (S+2) (S+4) and fizd 10 {
value of K.
(® Expwl.ain significance of p;:)les and zeros. .. ° ' 10
N K(s-5)(5=3,)
4, (a) Admittance fimctionofa givmnehwoﬂus given by Y(s)= G-5) 15

(i) Expresss,, 5, & s, in terms of , L, &C.
(i) Ifs,=-10+j10%ands,= —10- j104,
FindR,L &C ify(j 0)= 1{.‘r'1
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(b) Find Thevenin's equivalent network between A &B.
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5. (a) Obtain incidenco matrix, Heset mateix and Fentaet malvix for the praph given, ¥
A (" I3}
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I
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“
(b) For the network shown in Iigure, stendy state is reached wilh the switch closed. 4
The switch is opened at t = 0. Obtain expression for i, (1) for -« 0
I (OO0
t=h el
lovY "‘-[ 30 =2 ? Dot
6. (a) Synsthessize the following function in Foster I foun 10
. }(
(1) Z(S)= F72) (34
L +1)
(i) Z(s)= (—)'" 1
(b) Synthesize the following functions in cauer 11 form. . 10
. st+ 052 +4
() Y= o9y as
. 36+ 40 4 4
(i) Z(s)= "yt
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